Equity Market

Multiple Choice Problems

PROBLEMS

1. Which of the following is no¢ a characreristic of common equity?
A It represens an ownership interest in the company.
B. Sharcholders participate in the decision-making process.
The company is obligated to make periodic dividend payments.
2. The type of equity voting right that granss one vote for cach share of equity owned is
referred to as
A. Proxy voring.
B. )Smmuory vodng.
- Cumulative voting,

3. All of the following are characteristics of preference shares excepr:

(A They are either callable or purable.
. They genesally do not have voting rights.
C. They do nor share in the operating performance of the company.

4. Participating preference shares endtle sharcholders ro:

A. Participace in the decision-making process of the company.
B. Convert their shares into a specified number of common shares.
G; Receive an additional dividend if the company’s profits exceed a predetermined level.

5. Which of the following starements about private equity securides is incorrecs?

They cannot be sold on secondary markets.
B. JThey have market-determined quoted prices.
C. They are primarily issued to institutional investors.

6. Venmure capital investments:

A. Can be publicly traded.
%: Do not require a long-term commitment of funds.

Provide mezanine financing ro carly-sage companies.

7. Which of the following statements most acesrately describes one difference between
private and public equity firms?
A, Private equity firms are focused more on short-term resules than public frms.
A quity P
B.) Private equity firms’ regulatory and investor relations operations are less costly than
quity £ pe ¥
those of public firms,
C. Private equity firms are incentivized to be more apen with investors abour governance
quity B
and compensation than public firms.
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. . . Wh' f the followi in describi s book value?
DT P I ———— - / ich of the following statements is most accurate in describing a company’s book value:

Purchase price: $50 ; (] ﬂ A. Book value increases when a company rewmins its ner income.
Sale price: $42 ?' > { B. Book value is usually equal to the company’s marker value.
Dividend paid during holding period: $2 C. The uldmate goal of management is to maximize book value.

12.0% ?7 Y42
B. —14.3% =
C. —16.0% D4

19. Calculate the book value of a company using the following information:

Number of shares ourstanding 100,000

13. If a U.S.-based investor purchases a curo-denominated ETF and the curo subsequendy Price per share €52
depreciates in value reladve o the dollar, the investor will have a wal recurn that is: 0 0 o :11:03 :limtbitf £12,000,000

s = - ‘oral liabilities €7,500,000

Lower than the ETF's rotal return. ’I u¥o = Q/ < 17 S €2.000,000

Higher than the ETF's roral rerurn. ,“/{ w - ZJ) - 0/ 03 G

. The same as the ETF's towl rerurn.

14, SURIARRR A Boloving 1 e abaiis e 1k of v equity sccuriy? The sk offfn. | = w TVTHC SersS - TVTHL LI98) L1747
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A. Based on the uncertainty of its cash fows. 0 ﬂ f 15 v = i S . f7 ks
B~Based on the uncertainty of its future price. ==
@.ﬂj’lcasurcd using the standard deviation of its dividends. rg{ 7 /ng; 477 Ve
15. From an investor’s point of view, which of the following equity securides is the Jeast \8 g /. = 9 ] 77 174 // 77
risky? 24 Vi e .
Putable preference shares.

B. Callable preference shares.
C. Noncallable preference shares.

16. Which of the following is least likely to be a reason for a company to isue equity
securities on the primary marked
A. To raise capital.
To increase liquidity.
C. JTo increase return on equity. \
17. Which of the following is mof a primary goal of raising cquity capital?
A. To finance the purchase of long-lived asscts.

B. To finance the company’s revenuc-generating activities.
To ensure that the company continues as a going concern.
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I 20. Which of the following sarements is Jeast accurate in describing a company’s marker

[ —ry

@ €4,500,000 //m

B. €5,200,000
C. £6,500,000

(ﬁ Management’s decisions do not influence the company’s market value.
‘ B. Increases in book value may not be reflected in the company’s market value.
1 C. Marker value reflects the collective and differing expecrations of investors.

21. Calculate the 2009 return on equity (ROE) of a stable com pany using the following data:

! Total seles £2,500,000 POE -
Ner income £2,000,000
Beginning of year toral assers £50,000,000

i Beginning of year toral liabilities £35,000,000
Number of shares ousranding ar die end of 2009 1,000,000 n _
Price per share ar the end of 2009 £20 fl'~/6 e =

A, 10.0% 2 )
(B) 133% e
T 167%

22. Holding all ocher factors constant, which of the following siations will most fikely lead
t© an increase in a company’s return on equity?
A. The marker price of the company's shares increases.

2y Net income increases at a slower rate than sharcholders’ equity.
" The company issues debr to repurchase outstanding shares of cquity.

§ 23. Which of the following measures is the most difficulr to estimare?

A The cost of debe.
B.) The cost of equity.
C. Investors™ required rate of return on debt.

24. A company’s cost of equity is often used as a proxy for investors’:

Awerage required rate of remurn,
B.) Minimum required rate of return.

. Maximum required rate of rerurn.
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Computational Problems
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Newmont Mining (NYSE: NEM) has an estimated beta of —0.2. The risk-free rate of
return is 4.5 percent, and the equiry risk premium is estimared to be 7.5 percent. Using
the CAPM, calculate the required rate of return for investors in NEM.
r- Yo -pn4q. Y 5 Dy
. r= Y5 -04-4%5 2/

The following facts describe Larsen & Toubro Lid’s component costs of capital and capiral

/L, / structure. Based on the information given, calculate Larsen & Toubro’s WACC.
'b L{/ ) Component Costs of Capital (%)
/ Cost of equity based on the CAPM: 15.6
Za ] d. 0 V] 0 Pretax cost of debr: 8.28
e o Tax rate: 30

A5 0p0.000
MJ 3

Target weight in capital structure: Equity 80, Debt 20

1291+ 11597 - 43; 039 /.

Vincent Nguven an analyst, 1< examining the stock o irways (London Stock
Exchange: BAY) as of the beginning of 2008. He notices that the consensus fore-
cast by analysts is thar the stock will pay a £4 dividend per share in 2009 (based on
21 analysts) and a £5 dividend in 2010 (based on 10 analysts). Nguyen expects the
price of the stock at the end of 2010 to be £250. He has estimated that the required
rate of return on the stock is 11 percent. Assume all dividends are paid at the end of
the year.

A. Using the DDM, estimate the value of BAY stock at the end of 2009.

B. Using the DDM, estimate the value of BAY stock at the end of 2008.

~
Bolwork Inc. is expected to pay a dividend of $5 per share next year. Bolwork's dividends are
expected to grow by 3 percent annually. The required rate of return for Bolwork stock is 15
percent. Based on the dividend discount model, a fair value for Bolwork stockis $___per share.

4163

QBolwork Inc. has paid a dividend of$5 per sEare this year. Bolwork's dividends are expected to
grow by 3 percent annually. The required rate of return for Bolwork stock is 15 percent. Based
on the dividend discount model, a fair value for Bolwork stockis $___

" b2, 9.

per share.

Wete - ﬁ/e. 12,6 7
r42.4 2¢(1-03)
wite - 13,63%

- QZ/ 94, 72 97 # 7/ 5%




During the period 1960-2007, earnings of the S&P 500 Index companies have increased normally rely on beta as a measurement of a firm’s systematic risk. Should you

at an average rate of 8.18 percent per year, and the dividends paid have increased at an seriously consider buying that stock?

average rate of 5.9 percent per year. Assume that:

o Dividends will continue to grow at the 1960-2007 rate. c. In the past, your boss assessed your performance based on the actual return on
* 'The required recurn on the index is 8 percent. the portfolio of U.S. stocks that you manage. For each quarter in which your
» Companies in the S&P 500 Index collectively paid $246.6 billion in dividends in 2007. portfolio generated an annualized return of at least 20 percent, you received a

Estimate the aggregare value of the S&P 500 Index component companies at the begin-

; > bonus. Now your boss wants you to develop a method
ning of 2008 using the Gordon growth model.

for measuring your performance from managing the portfolio. Offer a method

% that accurately measures your performance.
Grear Plains Energy is a public utility holding company that listed its 4.5 percent cumu-
lative perpetual preferred stock series E on the NYSE Euronext in March 1952 (Ticker: d. Assume that you were also asked to manage a portfolio of European stocks.
GXPPrE). The par value of the preferred stock is $100. If the required rate of return on How would your method for measuring your performance in managing this

this stock is 5.6 percent, estimate the value of the stock. 0 0 (fj /0 U portfolio differ from the US. stock portfolio in the previous question?
gose 9934

Interpreting Financial News

Interpret the following comments made by Wall Street analysts and portfolio
managers.

a. “The stock market’s recent climb has been driven by falling interest rates.”
b. “Future stock prices are dependent on the Fed’s policy meeting next week.”
c. “Given a recent climb in stocks that cannot be explained by fundamentals, a
correction is inevitable.”

Managing in Financial Markets

As an investment manager, you frequently make decisions about investing in
stocks versus other types of investments, and about types of stocks to purchase.
a. You have noticed that investors tend to invest more heavily in stocks after
interest rates have declined. You are considering this strategy as well. Is it
rational to invest more heavily in stocks once interest rates have declined?

b. Assume that you are about to select a specific stock that will perform well in
response to an expected runup in the stock market. You are very confident that
the stock market will perform well in the near future. Recently, a friend
recommended that you consider purchasing stock of a specific firm because it
had decent earnings over the last few years, it has a low beta (reflecting a
low degree of systematic risk), and its beta is expected to remain low. You




